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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions :
1x10=10

e YRS Ol w3

(a) Define a null matrix.

a5t X CTerews 7wl i

Contd.



(b) fx—(logx) = .

(Fill ﬁp the blank)
(T} 32 999 F91)

(c) Evaluate (39 A =) -

2
1
1

(d) If @) f(x)=x%- Sx +5, ﬁﬁd the Qalue
of £(0), (CST £(0) WA Fefxr )

(e)  Evaluate (3 ﬁ‘ﬁl 90 -

1
.
3

= N O
o N

() Find the cofactor of -1 in the following
determinant :

-Wﬁ‘ﬁﬂﬁ_ Nﬂﬁﬁﬁcﬁw

1,-—2 3

2 0 35
3 2 -1
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(g9 What is the value of 10C; ?

10¢, 3 99 R

(h) Fill in the blank :
AT 3B 579 I ¢

%(TP):

where x denotes the volume of output.

T x-q Besifre A TRE|

(i) Fill in the blank :
feT o1 SfT 3

The variables associated with linear
programming problems are called

RS AT TN TGS G
QT
() Define a sinking fund.

@Bt YOis Sfferm wceRl WAl |
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2. Answer the following questions : 2x5=10
©od ePTRIRT Ol el ¢

(a) Write two differences between matrix
and determinant.

CTeREs W% R e 751 oie il |

(b) Evaluate (Refa ??T) :

o Al+x -1
lim ———
x->0 X

| -5 4 M 2
(¢) 1f (M) A=[ 5 2}3:[3 4}

find (Refx 1) 2A-3B

(d) In what time will ¥ 1,250 amount to
21,400 at 6% p.a.?

W SR TE 6% e e 1,250 T
S{agE 1,400 5F 232
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(e) Find 10t term of the following series :

o GTICBIR W ACD! R 8

3, -6, 12, =24 ............. |

3. Answef the following questions : (any fbur)
’ S5x4=20

o) frerear Bl 2 Ted fam
(a) Show that (Y& @)

—a?2 ab ac
ab -b? bcl|=4a?b?c?

ac bc -c?

(b) If (3W) A = B ﬂ shiasy Phat (4edt @)

A% - 31 =2A.

() A man saved Rs. 16,500 in ten years.
In each year after the first he saved
Rs. 100 more than he did in the
preceding year. How much did he save
in the first year?
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T N 72 IS 16,500 Tl en SR |
22 2T TeT 2TSCh! IO (96 T TFOF
100 5 @R 7%y TR | RS AT 7270
R Bt e T2

(d) Find sum to n terms of the following

series :
TR (TG now “viel (@ Wl =1 ¢

4+44+444 + .............

) @ 1If (ﬂﬁ) f(x)=1+x’ prove that
(SNT‘T = @)
1= x}
A 3
(ii) | Find (Ffa =) .
%, if (3f) yz'_x-logx | 2
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(f/ A person borrows Rs. 20,000 at 4%
compound interest and agrees to pay
both the principal and interest in 10
equal annual instalments at the end of
each year. Find the value of each
instalment. Given (1-04)710=0-6761.

T AE 2R 4% bEi@ T T

 Rs. 20,000 4<C& #Cs1 O Lo WIE O
w2 (10) 5 ISl Refvs wiRate Kok |
AfSTo! TR ofes e e 23 Fefa =i
il =MieR, (1-04)10= 0-6761.

Answer any four from the following :
’ 10x4=40

4. (a) Solve the following system of equation

by Cramer’s rule : S5
(TS RN ©or TNIPeIED! et 5 8
2x+y+z="7
3x-y-z=-2

x+2y-3z=-4
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(b) Evaluate (I R F) : 2
1 2 -4 -1
3 4/ |2 3

(c) Construct a 3 x 2 matrix such that

9Bl 3 x 2 GIEE= 5104 9 I AR

o
Voi+j

5. (a) If x, y, z be the pth, gth and rth term
respectively of an A.P., then prove that

x(g-r)+y(r-p)+z(p-q)=0.
B

W x, y, z TR B TR (TR p,
g T O A% T, A /A @

x(g-r)+y(r-p)+2z(p-q) =0,
(b) Find the inverse of the following matrix :
5 .
O CNERFRoI eifere Sfeear ¢

1 0 2
A=(2 -1 3

4 1 8
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6.

(@) A machine depreciates every year at

(b)

(a)

the rate of 10% of its previous value

and at the end of 4 years-its value was

Rs. 1,31,220. Find its original value.
' 5

aﬁwammwwwmwm
10% < S 4 I279 OG0 28R P 1,31,220
5t 2 | ER S o el 0|

Find x, y, z and ¢, if

X, Y, z % t3 TF Fefr <= 9

S{x y"Z x 6_'+ 4 x+y|
lE ox] (~1 2t] |2+t 3 |

S

A shopkeeper purchases 50 dozen eggs

at ¥ 40 per dozen. Of these 40 eggs are
found to be broken. At what price
should he sell the remaining eggs to
make a profit of 5%? 5
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GG (PRI &S TE 40 5301 f2pis 50 o
>0 R, O foeso 4061 T (T < |
(o8 TR AT FNER AfS oo KR [l
IR (967 5% e T2

(b) If 2 men and 5 boys can do half a
piece of work in 5 days and 3 men 4
boys can do one-third of it in 3 days,
then how many days will 9 men take

to finish it ? : 5

I GBI IR Y GR¥ 2T AR O 5T
TR 5 e oI FHEOR GF-PO A 3T
TE S 4T 5112 3 s o IR I,
(S0 9T W FuN s (i IO 17
FA A2 | '

8. (a) The difference between simple and
compound interest on a certain sum of
money for 3 years at 5% p.a. is
213.50. Find the principal, simple

. interest and compound interest. )
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(I 95! TR 8o IR 5% K 3 IT
R S O b e AL 213.50 B
oI, 7 S S b o R

(b) A company is considering which of the
three methods of production it should
use in producing three goods A, B and
C. The amount of each good produced
by each method is shown in the

following matrix E

Method 2

A
Method1l | 4
5
Method 3 | 5

oo_ﬂootu
O~ N 0O

The column matrix [10 4 6] represents
the prbﬁt per unit for A, B and C in
that order. Using matrix multiplication,
find which method maximizes total

profit. ‘ 9
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Bl @ Ry A A, B WK C
Besie $RIT A FOAD! NI (PIFTH! &9t
el SRR 3 REw Reoat i <z Aot
AT B Beoim 1 efolRy AR ©Y
T (METF0S (MYSdl (0T 8

o N

B C
#Eil [4 8 2]
g2 |5 7 1)
=i 3 L 3 9J

e (= (10 4 6] 9 AN A, BEIS CT
AfS «FF ORI (FA eI AT FEiRz |
G 7J891 STRIT® CRIRICH! Tt Acas] iRt
e SH(feT 7' R 1

9. (a) Find the differential coefficient of Jx

using first principle. 5

o T IRTT IR x I TREE GRS Ff

4l
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’ 1
(b) Show that the maximum value of X + o

is less than its minimum value. 5

e @ x+%aﬂﬁ%mmaﬁ%m

AL

10. (a) Find (i) average profit function, and
(ii) marginal profit function for the

following total profit function (P) :

P=Q2-12Q+50
' Evaluate them at Q=05. - B

©ER TP S T (P) ACATF (i) TG TS T,

i (i) 2ifes Ao o BReal ¢
P=0Q?-12Q0+50

0=5 2T T 7S i e aeT AR

A = |
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() The marginal cost (MC) of a product is
MC =3x+4, where x denotes output
and the fixed cost (FC) is known to be
10 units. ,Find the total and average"
cost functions. -5
Ry AT 2lifeF I7 MC = 3x+ 4 9% 7
I (FC) T 10 5| x 9 BAW ANTT

- G AP JENRC I T T O o T
T e 1)

11. (a) Solve the following LPP by graphical
method : 6

o4 LPP (B (o1 A@fOws st w4 ¢
Maximize (5% T T 1)
z=5x+3y

subject to (TF{ TG ANATHF)

2x+y <1000

x £400

y <700
x,y=20

L
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(b) State four uses of LPP in Business.
' 4

Afere CaRT eEeR B! TR S
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